CCGPS Analytic Geometry Probability Test Review |

1. Your schoolis selling sports packages with tickets to games for all of your favorite Atlanta teams. You have
the option of choosing between é Falcons games, 4 Hawks games, and 9 Braves games. How many
different packages could you create?e

2. The math club is electing new officers. There are 3 candidates for president, 4 candidates for vice-president,
4 candidates for secretary, and 2 candidates for freasurer. How many different combinations of officers are
possible?

3. A piggybank contains 2 quarters, 3 dimes, 4 nickels, and 5 pennies. One coin is removed at
random.

a) What is the probability that the coinis a dime?

b) What is the probability that the coin is a dime or a nickel?

c) Whatis the probability that you choose a dime and then a penny? /ﬁ@ ﬂ’/)/é/(@ﬁ/%]g

d) Whatis the probability that the coin is not a dime?

e) Are the two events, selection of a dime and selection of a nickel, mutually exclusive?
Explain.

4. Each of the letters of the word “GEOMETRY" is on a separate card. The cards have been mixed
and placed in a box. If you select one card at random, what is the probability that its letter will
be “E"2

5. A cardis randomly selected from a standard deck of 52 co.rds. Find the indicated probability.
**Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds, 13 spades, 13 clubs, 13 hearts,
36 numbered cards, 26 red cards, and 26 black cards.**

a) P(Jack) b) P(Ace or a Diamond)

c) P(Red andKing) d) P( Black card or Numbered card)



6.

8)

Two cards are randomly selected from a standard deck of 52 cards {WITH REPLACEMENT).
Find the indicated probability. **Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds,
13 spades, 13 clubs, 13 hearts, 36 numbered cards, 26 red cards, and 26 black cards.**

a) P{Jack and Heari) b) P{Diamond and Diamond)

c) P{Red andKing) d) P( Black card and Numbered card)

Two cards are randomly selected from a standard deck of 52 cards (WITHOUT REPLACEMENT).
Find the indicated probability. **Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds,
13 spades, 13 clubs, 13 hearts, 36 numbered cards, 26 red cards, and 26 black cards.**

a) P{Jack of Hearts and Heart) b) P{Ace and Ace)

d) P(Black Card and Red King) d) P( Black Jack and Numbered card)

The probability that a student with blue eyes is 35%. The probability that a student is over 6 feet
tall and have blue eyesis 24%. What is the probability that a student is over 6 feet fall2

For #9 - 13, refer to the following table.

9} P (Female) =

Madle Female Subtotal
Blue Eyes 10 30
Green Eyes 20 60 10. P (Blue Eyes) =
Subtotal

11.P(Blue Eyes |Female) =

12. P(Female | Blue Eyes) =

13. Are the events Female and Biue eyes independent? Explain.
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1. Your school s selling sports packages with tickets to games for all of your favorite Atlanta teams. You have
the option of choosing between 6 Falcons games, 4 Hawks games, and 9 Braves games. How many
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2. The math club is electing new officers. There are 3 candidates for president, 4 candidates for vice-president,
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4. Each of the letfters of the word “G _Q_M,EIRX" is on a separate card. The cards have been mixed
and placed in a box. If you select one card at random, what is the probability that its letter will
be HEH

e) Are the two events, selection of
Explain.

5. (A card)s randomly selected from a standard deck of 52 cards. Find the indicated probability.
**Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds, 13 spades, 13 clubs, 13 hearts,
36 numbered cards, 26 red cards, and 26 black cards.**
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6. @re randomly selected from a standard deck of 52 cards {WITH REPLACEMENT).

Find TReindicated probability. **Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds,
13 spades, 13 clubs, 13 hearts, 36 numbered cards, 26 red cards, and 26 black cards.*

a) P(Jack and Heart)
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b) P(Diamond and Diamond)
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7. Two cards are randomly selected from a standard deck of 52 cords (WITHOUT REPLACEMENT). 5‘2 ’ ;{o

Find the indicated probability. **Hint: There are 4 jacks, 4 queens, 4 kings, 4 aces, 13 diamonds, 2
13 spades, 13 clubs, 13 hearts, 36 numbered cards, 26 red cards, and 26 black cards.™
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8) The probability that a student with blue eyes is 35%. The probability that a student is over 6 feet
tall and have blue eyesis 24%. What is the probability that a student is over 6 feet talle
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13. Are the events Female and Blue eyes independent? Explain. WD

P(8lF)* P(F(B)




